GYRO-TECH

1175 WHISPER-SLIDE

ELECTRIC

LOCK




PR VO U I IR KT IG GREARY A

4

ot §a03 vomt
20 st Eratim

§300i=a3 wOa4 123 @)

NOlLdI¥0S3a N/d ALD|WaL
vwzmmww m smmm_uwk.w@ﬂ%whm Buimesp sl jo ¢ pue ¢ 'z abed Lok
s HO3L OdAD mp o E g x 0l X gl ‘xog Buddiys gelipll L | ¢

"ﬂZO_P(U.L_UW,Lu UWUZ,M”MH_M“.( UCNI “r—m_m .XUOI._ mwmm —_mH_ mﬁom—\m ﬁ m
siojesodQ pajeIsul H1 ‘UH - dJes lie "N20 u.w,._‘.__:uum;‘z T _aG wmvuo | G50z0r | W 91ZND3 ssauleH buipueH gpeslll | 1%
- OUON :=IVD T -1~
. R e e T AN S gLzivi] € | S
jybjapis paxi4 puey u.cm_m % ‘pajaya0d/uadQ |[n4 pueH }a7 g1-g/¢ 'INN asenbs | 9z-L200ve| ¢ 9
syed-1g GLL| [l uo pasn iy 9jes [ied 711 X 91-8/€ 'S1log peaH XaH | 9g-vl00ve| ¢ 7
14 ‘Malog buidde] jlos| 0€-v100VC| ¥ 8
= N Joroelg JoWlIojsuel | el
= '@ JoUWI0JSUBIL JIOA ¥T tobevl| b |9F
81-9L/S INN xaH | 8L-1200ve) | b
—(en GT9L/s Jausemeld | wi-zvoove| L |9
o N pauipol'Buo Z X g/€ 1log JOpINoUS gee6yL| L |Eh
b
=
~(¢g)




Installation Instructions for Electric Lock Retrofit on
Right Hand Full Open and Left Hand Fixed Sidelights

Parts:

Shoulder Bolt (Cut down to 2") 149853 Two (2) 3/8-16 x Y2 Bolts 240014-26
Large Flat Washer 240017-14 Two (2) 3/8-16 Hex Nuts 240021-18
5/6-18 Nut 240021-18 : Fail Safe Lock, Right Hand 219117

24 volt Transformer 142101 or Fail Secure, Right Hand 219118
Transformer Bracket 149167 Three (3)Wire Nuts 141218

Two (2) Self Tapping Screws 240014-30

Please READ THESE INSTRUCTIONS THROUGH BEFORE STARTING. Understand
what the final result will be before attempting step 1!

1. Tum off power to unit via the circuit breaker in the building’s circuit breaker panel.
2. Open the cover of the header and remove the cover off the switch plate on the left side of

the unit. Remove the switch, loosen the mounting nut and slide the switch box towards
the jamb tube as far to the left as possible. Tighten the mounting nut.

U

Assemble the bracket and transformer with the screw
located on the transformer. See Figure 1.

4. Remove the mounting nut from the operator end of
the operator/motor assembly.

5. Install the transformer assembly onto the
operator/motor assembly bracket using the nut
removed on the last step. Route the black and white
wires into the switch box and connect them to utility Figure 1
power. The black wire should be connected to the
output side of the switch (so the toggling of the switch removes power from the
transformer). Replace the switch and switch box cover.

§<<<<f

6. Dirill an access hole in the nut track flanges large enough to fit the bolt head. Install two
(2) 3/8-16 x 2 bolts into the bolt head track. Slide the bolts next to the belt tensioning
bracket. It may be necessary to temporarily remove a rectangular plate holding the track
in position to locate the two bolts. Install the Electric Lock Assembly using these bolts.
Orientate the lock so the movable cam is in the down position. Locate the lock so that the
center of the cam is 11 3/4 inches from the jamb tube.

7. Connect the red and gray wires from the control box together. Connect the brown and
violet wires from the Electric Lock Assembly to the matching wires from the control box.
Use the provided wire nuts. See the Electrical Diagram.

219543 and 219544 Page 2




8 Connect the orange wires from the Electric Lock Assembly to the screw head leads on the
24 volt transformer.

9. Install the shoulder bolt, washers, and 5/16-18 nut

into the hole on the belt clip. The bolt should be =t
mounted as shown in Figure 2. o
10. Attach the. belt.clip to the door. (New screws have
szzr:.provxded if required). Manually close the @ 0 @
11. With the door in the fully closed position, adjust

the horizontal and vertical position of the Electric :
Lock Assembly so that the steel post is captured by .

the movable cam. See Figure 3. Tighten all

mounting nuts and secure all loose wires.

12. Tum power back on to the system from the

' building’s circuit breaker panel. Reinitialize the
door system using the handy terminal. See
section 7.09 of the Gyro Tech Entrance
Systems Instruction Manual for
Microprocessor Controller and Handy
Terminal for Gyro Tech Slider Type Doors.
Activate the Hold Close option and, if
necessary, adjust the location of the C{
Electric Lock in relation to the shoulder
bolt.

¢ Installer’s discretion: For easier access, the
installer may want to remove the belt from Figure 3
inside the header. TMPORTANT- Observe the
tension in the belt for reinstallation. Remove the belt by loosening the “adjustment bolt”
securing the idler and the two idler mounting nuts. ;

»  Note: The electric lock works only in the “EXIT” and “OFF” modes. Make sure the switches
are in proper positions.

For Lanson Engineering Assistance, call (877). NABCOWI 8 am to 4:30 pm CST.

219543 and 219544 Page 3




pySeYL
£rS6Y L
2vs6hl
L¥G6V1 Jo i abed

AINO SIAOW LIX3

Bulipn %007 91083\ BNUBIN GLL |\sabexoed [ENUBNND

opol 1uBIN J0 @pol oujelL ABA BUO

: nduj apo

[c]~[0] Aejop awn * [0] IndINO XNV : [BUILLISL ApueH

-

vw V_ _l‘?um—..nm.ov?_uv awny V_ —A Gumﬂzm.m.ofxou awn |
440 NI SHYOM D01 310N 0T 128010 <<< N300I TAFEOL | Le
i
1 @001 (NO) a3N00TINN [G3001  LNdLNO
IVNOIS
| NO | JLVAILOV
abueiQ STV
¥3141103d i @
APZOV | 3 g
abuelQ
el g S1LOV
HIWHO4SNVYL uliuoou|
= .
63 0 | MOJISA m
plousjos O
= J
: ¥0elg o I e e e o4
s e T RN
bS] MO01 2 7 : S el e
mx Pm\ O .—.Um w 9 >._. mznomm __mu xum_m Aowmv N. ! ‘lenuew co_WaE_%_aMMMM M“_Luwc:rs hﬂ%n%ﬂwﬁ
e e ol O o)
Uo132101d PINUIUOD 403
o el
2 ] K3 (56 S} 150 T o 1Yr8 Ap34vS! Efomxmnuﬁm 3SVHd A HOLOW a3y .z
] W NO| | e el ot THEE oawoiwsio s
HOVOHddY| 3OV8 9] € :
NOWWNOD'™ D0AZL a3y I3 IR4 ALdn3 2
68LOGVEC) W T ] Ll
; 0 ] £ (dz1) HOSN3S M st
\ NMO¥8) Ackdd6 £7=1 (d9) TYNINY3L AGNVH (d¥) 308N0S ¥3MOd =
D_U H3TTIOYULNOD y0SSID0UdOUDIN
B 10682 - HOIL OYAD
| (AZLOQAVI3N | B




¢y§6ic e || e NOILdI¥os3d e ,Eo,sw\ﬁ
= m SEle A s e Bumelp iU} jo v pue ¢ 'z 3bed * el
L HO3L OdAD 2 g X 0L X 21 xog buiddius | goLipblat | €
i o SUer B oot enoes ted | veoeiel b | €
516121940 POIIEISUl H1 1) - 9an99S [iBd 201 u._m_mﬂmz B ey o VAT Sl mc:uch¢ wommi; b 4 7
GRS | s e LS M P~ NN m__.>>» wrmri_ e _m
JuB1apIS paxi.y pueH b g ‘pojox20d/uddQ |Ind PUBH 137 g1-8/€ 1NN 2Jenbs oz-1eoove| ¢ |9

‘sped-1g GLLL |l uo pasn 1Y 81ndag jied Z/1 X 91-8/€ ‘s}og pesH XoH @N-ﬁoovm_ z _ z

by oIS budde JBs | 0e-v100ve| ¥ | ©

= @ JoyoBIg JoWIOjsuBL L P

= —. iaWwlojsuel] JOA T vorevt| b |9

g1-91/G INN XoH | 8L-Lcoove) b b

(D) "1 91/S aysemield | vi-LL00ve| b ¢k

¢ | \V “paljipoN'Buo Z X 8/€ 10g 13PINOUS ggeeyl| L |EF

/ \\|A/W\v
T




Installation Instructions for Electric Lock Retrofit on Model 1175
Bi Parts, Left Hand Full Open/Pocketed, and Right Hand Fixed Sidelight Units

Parts:

Shoulder Bolt 149853 Two (2) 3/8-16 x %2 Bolts 240014-26
Large Flat Washer 240017-14 Two (2) 3/8-16 Hex Nuts 240021-26
5/6-18 Nut 240021-18 Fail Safe Lock, Right Hand 219073

24 volt Transformer 142101 _ or Fail Secure, Right Hand 219074
Transformer Bracket 149167 Three (3)Wire Nuts 141218

Four (4) Self Tapping Screws 240014-30 Handing Harness 119208

Please READ THESE INSTRUCTIONS THROUGH BEFORE STARTING. Understand
what the final result will be before attempting step 1!

1. Turm off power to unit via the circuit breaker in the building’s circuit breaker panel.

9 Remove both of the belt clips from the door carriers. For Bi-Parts, pull on the belt until the
belt clips have swapped doors (the longer belt will be on the door farthest from the motor) .
For better access, do not install the clips to the doors until
theend.

3 Assemble the bracket and transformer with the screw
located on the transformer. See Figure 1.

4 Remove the left mounting nut (on the operator end) from
the operator/motor assembly. :

5 Install the transformer assembly onto this bolt using the nut Figure 1
removed in step 4. Route the black and white wires into the
switch box and connect them to utility power. The black wire should be connected to the
output side of the switch (so the toggling of the switch removes power from the
transformer). Replace the switch and switch box cover.

6. Drill an access hole in the nut track flanges large enough to fit the bolt head. Install two (2)
3/8-16 x Y- bolts into the bolt head track. Slide the bolts to the approximate center of the
door opening. It may be necessary to temporarily remove a rectangular plate holding the
track in position to locate the two bolts.

7 Install the Electric Lock Assembly using these bolts. Orientate the lock so the movable cam
is in the down position. Locate the lock so that the center of the cam is 11 3/4 inches from
the center of the door opening.

8 Connect the red and gray wires from the control box together using the provided wire nut.
Connect the brown and violet wires from the Electric Lock Assembly to the matching wires

219541 and 219542 Page 2




from the control box. Use the provided wire nuts. Pl
2 N E
9. Connect the orange wires from the Electric Lock Assembly w
to the screw head leads on the 24 volt transformer. See
Electrical Diagram. g __Blo )) 0 @

10. FOR BI-PARTS ONLY Unplug the 6 wire harness from
the motor. Install the new handing hamess between the
motor and the existing hamess. Carefully secure them

behind the plastic cover.

/’/47;——

11. Install the shoulder bolt, washers, and 5/ 16-18 nut into the
hole on the taller belt clip. The bolt should be mounted as Figure 2

shown in Figure 2.

Attach the belt clips to the doors. (New screws have been provided if required).
Remember, the shorter clip mounts to the door under the motor.

13. With the door in the fully closed position, adjust the horizontal and vertical position of the

Electric Lock Assembly so that the steel post
is captured by the movable cam. Tighten all
mounting nuts and secure all loose wires.

See Figure 3.

Screaws for horizontal and vertical adjustment

14. Turn power back on to the system from the C{
building’s circuit breaker panel. Reinitialize
the door system using the handy terminal.
See section 7.09 of the Gyro T ech Entrance l
Systems Instruction Manual for
Microprocessor Controller and Handy
Terminal for Gyro Tech Slider Type Doors.
Activate the Hold Close option and adjust the location of the Electric Lock Assembly in

relation to the shoulder bolt.

Figure 3

¢ Installer’s discretion: For easier access, the installer may want to remove the belt from inside the
header. TMPORTANT- Obscrve the tension in the belt for reinstallation. Remove the belt by
loosening the “adjustment bolt” securing the idler and the two idler mounting nuts.
. Note: The electric lock works only in the “ONE WAY” and “OFF” modes. Make sure the
switches are in proper positions.

For Lanson Engineering Assistance, call (877) NABCOWI 8 am to 4:30 pm CST.

219541 and 219542 Page 3




Buip %007 21j03|3\BnUB G /1 L\sabeoed |BRUBKVD

pYSGYL
cSevl
A48 ;
L¥S6YL Jo ¥ abed apo 1yBIN 10 @po dyjel ] ABp BUQ : jnduj SpPON
[c]l~[0] Aejop awy * [0] INdINO “xny : jeuiwia | ApueH
um I.M_ _A UonTnN.oin_ulv ME: J *A Auou_l'm.u.ov\a_ov awy .._
440 NI SHJOM MO0 :31ON  aasomo| 1L_SSew s NIbo RSgasoany A
]
1 039001 (NO) @3%00INN [@3%0071  1Nd1no
. TVYNDIS
l NO | JLVAILDY
abuei0 ST
itom i
¥3141103 APZOV @ \/\
abuesQ
ECHR SOV
= YIWHOISNYYL uIwoou|
i 5 [ MolBA o ;
B ﬁ ploud|os 0]
0
T SIIYLSNANI NOSNY1 “UoHoUNjiew BJEMPIEY PUE BJEMIOS 95nED Aew
Alﬁ 30KL 5JeS It . ﬂmmvnw_w__./u\o«.m_.ﬂw o4 o Aot o o0
q uvﬂcmc.ca eq W UBLUEM O 34" ¥}
¥ ‘asnj bupeldail Jo) }dIIXe X0Q SR uado LwoQ'C
Slilopeon el ERIEEES LR GER)! L . e U e
e HOL R
(AVY¥9) -LNO growrwel el 1ol el ue]l [T oum waoomal wovi ¢
(HDNOUHLHIVOYUJJY | IDNVHO [ G 3svid nwolon|  3a78] »
o el Ty e e Bl
Za - el | vl 2 {1370IA) +LNO ..m.m.._".wm%._wmwaﬂwh N33O ul s Vo Rez1ONTvY 100 N ) ]
Siisn &.W«.w,.ﬁu ,deunl el 3QISNI 3503 (d9) ¥O1vH3d0 X
@% ; NORMOD™ D0AZY| a3 e Tan3 v
68L9GVECt ; : V. e as o e e
. Z=2] (dT1) YOSN3S A3 st
\ (NMOY8) AZLOTE| = (49) wNINHEL AGNVH Gy} TUneE BMGT B
_HE YITIOYLNOD ¥OSSIO0UdOUDIN
[ il Lo68vZ - HO3L OHAD
(AZ1LDQ)AVI3Y




| ¢vs6Le S e T o NOILdIg0S3a W4 [Aoe

s m Immw_mo.__”;muwm‘zu e Buimelp siyy Jo v pue ¢ 'z abed | o

L hsieo AD e i g x 0} X gl 'xog Buiddiys aeliwll b | @
M ISNOILVOIANDBAS HNUZ%ZNJOP UCNI ﬁmJ .xoOJ @wmw __NHW m—\ _\m_N r \ﬂll

.m = 5 . tawimatvw [ e W cae nmvao [GEgz01 | W 942 NO3 b4

10721900 PaIIEFSUl FH 11 - 9Jes 1ed Moo oueald | seomess | |- o NN I gizivt| € |6

1ybljapIS paxid pueH 3o pue .nmumv_oo&cmao [In4 pueH by 91-g/c NN 2ienbs | 9g-1200ke| ¢ 9

:59|BUIS GL} | UO PISN 31X A4S |IEd /1 X 91-g/¢ ‘siog peaH xaH | 9¢-v100¥e| ¢ A

14 'maiog buidde] jies| 0e-¥100¥2| ¢ 8

@ 1o¥oelg Jawlojsuel | L9lepil 1 b

W _ J9WI0jSuUB | JIOA V2 vorert| b |9F
. g1-91/s N XeH| si-teoove| b " |

: —@ "G 91/s Jousep el | vi-Lhoove| b [

SN N “paippoyy'Buo Z X g/¢€ ‘liog 18PINoYS cggeyvl| L |EF

(e1)
©
/@
&
7\ ok
: g L
@ @ w\_
«@v\t @ ANV ‘.\. /

o




Installation Instructions for Electric Lock Retrofit on
Right Hand Full Open and Left Hand Fixed Sidelights

Parts:

Shoulder Bolt (Cut down to 2") 149853 Two (2) 3/8-16 x ¥ Bolts 240014-26
Large Flat Washer 240017-14 Two (2) 3/8-16 Hex Nuts 240021-18
5/6-18 Nut 240021-18 Fail Safe Lock, Right Hand 219117

24 volt Transformer 142101 or Fail Secure, Right Hand 219118
Transformer Bracket 149167 Three (3)Wire Nuts 141218

Two (2) Self Tapping Screws 240014-30

Please READ THESE INSTRUCTIONS THROUGH BEFORE STARTING. Understand
what the final result will be before attempting step 1!

1. Tum off power to unit via the circuit breaker in the building’s circuit breaker panel.
2. Open the cover of the header and remove the cover off the switch plate on the left side of

the unit. Remove the switch, loosen the mounting nut and slide the switch box towards
the jamb tube as far to the left as possible. Tighten the mounting nut. :

(U3)

Assemble the bracket and transformer with the screw
located on the transformer. See Figure 1.

4. Remove the mounting nut from the operator end of
the operator/motor assembly.

5. Install the transformer assembly onto the
operator/motor assembly bracket using the nut
removed on the last step. Route the black and white
wires into the switch box and connect them to utility Figure 1
power. The black wire should be connected to the
output side of the switch (so the toggling of the switch removes power from the
transformer). Replace the switch and switch box cover.

6. Drill an access hole in the nut track flanges large enough to fit the bolt head. Install two
- (2) 3/8-16 x ¥ bolts into the bolt head track. Slide the bolts next to the belt tensioning
bracket. It may be necessary to temporarily remove a rectangular plate holding the track
in position to locate the two bolts. Install the Electric Lock Assembly using these bolts.
Orientate the lock so the movable cam is in the down position. Locate the lock so that the
center of the cam is 11 3/4 inches from the jamb tube.

7. Connect the red and gray wires from the control box together. Connect the brown and
violet wires from the Electric Lock Assembly to the matching wires from the control box.
Use the provided wire nuts. See the Electrical Diagram.

219543 and 219544 Page 2




10.

11,

¢ Installer’s discretion: For easier access, the
installer may want to remove the belt from Figure 3
inside the header. IMPORTANT- Observe the
tension in the belt for reinstallation. Remove the belt by loosening the “adjustment bolt”

securing the idler and the two idler mounting nuts.

»  Note: The electric lock works only in the “EXIT” and “OFF” modes. Make sure the switches
are in proper positions.

Connect the orange wires from the Electric Lock Assembly to the screw head leads on the
24 volt transformer.

Install the shoulder bolt, washers, and 5/16-18 nut
into the hole on the belt clip. The bolt should be

e S
mounted as shown in Figure 2. ﬁ\

Attach the belt clip to the door. (New screws have

been provided if required). Manually close the @

door.

o || B

Nr

With the door in the fully closed position, adjust

the horizontal and vertical position of the Electric ‘
Lock Assembly so that the steel post is captured by - \
the movable cam. See Figure 3. Tighten all

mounting nuts and secure all loose wires.

Tum power back on to the system from the Eiouse 2
building’s circuit breaker panel. Reinitialize the -
door system using the handy terminal. See
section 7.09 of the Gyro Tech Entrance

Systems Instruction Manual for

Microprocessor Controller and Handy
Terminal for Gyro Tech Slider Type Doors.
Activate the Hold Close option and, if
necessary, adjust the location of the

Electric Lock in relation to the shoulder

bolt.

crows %or horzanal and varcal adiustnent

For Lanson Engineering Assistance, call (877) NABCOWI 8 am to 4:30 pm CST.

219543 and 219544 Page 3



yySehl
£YS6YL
Zvse6hlL
L¥S6p1 Jo ¢ obed

Buniph %007 ;dagyenueyy 671 1\sabexded |enuewyd

9pOIN 1YBIN 10 apojp aljel] Aepp auQ : 1nduj apoN
[e]~[0] Aejop awn * [0] IndINO XNy : jeulwID | ApueH

u% ...H_ _A GzTnN.o:u_u.m, ...|E= J _.. sum._..mwe:_% awn k
440 NI SHYOM %001 :3LON G550| 35010 << N3do[Jazsonn 2000
1
1 "@a%007]___(NO) @3%007INN [@3%007  1NdLNO
TVYNOIS
| NOJ JLVAILDY
abuelp ST
AINHILO3Y 5 @
AvZOV | 3 @
abuelQ
ey STLOV
= YINWHOISNVYL uliodu|
E [~ MmOlIBA o .
& ploudjog 0]
0
e &l SIYLSNANI NOSNYT “UOHDUNJIEW DIEMIEY PUE IEMYOS 05NED Aew
OQ>.—- 39jLg jied Lol // SZTIDNW R IAINZ 201 *souisnpu] uosue Aq _ﬂuo:e wun s jo xuav«%#
: e s R
INIYLS /%001 DMLOINT  odky amoog ieg  Pe HO3L OdAD 100 o0 bowade oriod o sanod sl
: ADuw: /L 2 ‘lenueiw uondrus w1 194 se Jojesado iyl Isnipe esedld’)
*1NdINO AYUD * 100} ¢ NOILOAVYVD
q ¢ INdINO| 13701A * INO| 1t
(AV¥9) -1nO Snowad Sl e e el R e
(11DNOW 111 12¥OBJav| 301vHO) ol o darinian Bass Isviwnuolton|  30w| v
IMS 3001| IONVHO ot 3SVHd ¥ ¥300D03] NAMOUY| €
Bkt e v AT TOOE Y £E I e
{1310IA) +1N0O o.._..u...«.“_..ﬁ.mdmz 13360 uls VY ‘ASZI-ONILVY S | w05 o
.."_.wm_...wwm.w..wmmw_w oo I JOISKL 3504 {9 HO1vH3do [
:O!!OU.“ UUM»M" -_EA“““ >N_U°M " 1004 nﬁ(,xﬂ.m}—w wIVE M
68L9GVvECH ; i 10105 YounAS |Gt normod avasiy|  3inval ¢
£ ] (dz1) HOSN3S Mgt LD
\ .A2>>Omm: ActOds £ (d9) IYNIWYIL AGNVH (dy) 30UN0S ¥3Mmod Cx
D& UITIOHINOD HOSSID0OHdOYIIN
& [ 1068Y2Z - HOIL OHAD
E>NFOOV><Jmm




L P E— T B
sty HOdL OdAD L g x 0} X gl 'xog buiddiug GellibLl LoNe
e puel o Hpoeinoes ted | sLiele) b | ©
510723900 POJIEISUl HY 1Y - 9499 [1ed .xuo._wm_u.wwp_ms e LA VAT g
il e e NN SJIAN gLzivt| € | S
JyB1jopIS Poxi4 pueH 137 pue pajaxd0djuado [ind putH by 9i-g/c NN olenbs | oe-lzoove| ¢ | O
:s9]BUIS G/} U0 pasn 3} aInddg |l 2/ X 9L-8/€ ‘siog peaH XaH | 92-¥L00¥e| ¢ L
14t ‘MaJos Buidde] JjoS| 0€-vL00¥C| ¢ 8
= 19yoelg Jawlojsuel | L916vL| L ©
= @ JoWIojSuel] JIOA ¥C orzvt| + [9F
o 19175 NN xaH | sL-tzoovz| b [F¥ ]
—(z2) "a°1 94/S Jausepn jeld | vi-LL00ve| b ¢l
\Vi ‘paljipo|y'Buo X 8/€ log J3pINoUS eogepl| L |EF
(en)
-(¢)

o
&=
==

| ——
+ 1=a3
308 st et
100,203 =00,
-




Wiring Diagram for connecting push plates and or card readers for Night mode.
Attach the normally open contacts across the red and black wire on cither the rocker or key

switches.
. 1 Push bullom switch
o] during night mode.
i
¥ AUTQ
‘@“‘ Cm | Red(1)
0 | White (#5) |
L)1} Blackif2) | Red
White
Black
Rreoucen - —— Green I
o=
Blue (14)
(o]
White
(e}
== §-—— Blue Blue
2 S Red Red
— Blue g
[OAEH'AXI White
Black = Whte: —d— : &
o— Red ——lEi — Red Green
Black =i — Black
HOLD OPEN
Green
: Red ﬁ O
= l | Push buttom switch
REGUCED OFEN during night mode.
(0] C







